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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

Study Circle Career Development Institute

(9) gm‘mÝ` ‘mZ{gH$ j‘Vm

1) g§»¶m, {MÝho H«$‘ Am{U ‘m{bH$m

2) dU©H«$‘ Am{U ‘m{bH$m

3) gm§Ho${VH$ ^mfm/ H$moqS>J-{S>H$moqS>J

4) gmå¶, VwbZm, dJuH$aU

5) J{UVr` / A§H$J{UVr` {H«$`m

6) ^m¡{‘{VH$, doZ AmH¥$Ë`m§da àíZ

7) H«$‘nyV©Vm, à{V‘m, KZ, KS>çm, AmH¥$Ë`m§da àíZ
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(9) gm‘mÝ` ‘mZ{gH$ j‘Vm
1) g§»¶m, {MÝho H«$‘ Am{U ‘m{bH$m
2) dU©H«$‘ Am{U ‘m{bH$m
3) gm§Ho${VH$ ̂ mfm/ H$moqS>J-{S>H$moqS>J
4) gmå¶, VwbZm, dJuH$aU
5) J{UVr` / A§H$J{UVr` {H«$`m
6) ^m¡{‘{VH$, doZ AmH¥$Ë`m§da àíZ
7) H«$‘nyV©Vm, à{V‘m, KZ, KS>çm, AmH¥$Ë`m§da àíZ
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gm‘mÝ` ‘mZ{gH$ j‘Vm ¶mda àíZ AgUmè¶m ‘hmamḯ> bmoH$godm
Am¶moJmÀ¶m narjm

1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
3) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
4)  ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
5) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
6) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
7) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
9) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
10) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
11) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
12) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
13) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
14) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
15) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
16) nmobrg Cn{ZarjH$ (‘w»¶) narjm, gßQ>|~a 2022
17) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
19) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm , Am°³Q>mo~a 2022
20) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
21) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
22) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
23)  ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
24) ñQ>oZmo ‘amR>r narjm, {S>g|~a 2022
25) ñQ>oZmo B§J«Or narjm, {S>g|~a 2022

‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm 2022
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
5) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
6) Oo‘E’$gr d {XdmUr Ý¶m¶mYre H${Zð> ñVa nyd© narjm , ‘mM© 2022
7) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
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9) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
10) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
11) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
12) amÁ¶godm gm_mÝ` AÜ``Z nona -3, ‘o 2022
13) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
14) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
15) Oo‘E’$gr ‘w»¶ narjm nona-1, Owb¡ 2022
16) Oo‘E’$gr ‘w»¶ narjm nona-2, Owb¡ 2022
17) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
19) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
20) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
21) JQ>-H$, ‘w»¶ narjm nona -1, Am°JñQ> 2022
22) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -1, gßQ>|~a 2022
23) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -2, gßQ>|~a 2022
24) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
25) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
26) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
27) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
28) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
29) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
30) JQ>-~ ‘w»¶ narjm nona-1 , gßQ>|~a 2022
31) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
32) nmobrg Cn{ZarjH$ (‘w»¶) narjm, gßQ>|~a 2022
33) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
34) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
35) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
36) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
37) dZgodm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
38) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
39) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
40) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
41) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm , Am°³Q>mo~a 2022
42) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
43) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
44) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
45) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
46) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
47) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
48) AZwdmXH$ (‘amR>r) MmiUr narjm, [S>g|~a, 2022
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49) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
50) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
51) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
52) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
53) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
54) ñQ>oZmo ‘amR>r narjm, {S>g|~a 2022
55) ñQ>oZmo B§J«Or narjm, {S>g|~a 2022
56) newd¡ÚH$s¶ A{YH$mar narjm, {S>g|~a 2022
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‘hmamîQ́> bmoH$godm Am¶moJ narjm 2023 Aä¶mgH«$‘
1) ^maVmMm B{Vhmg Am{U ̂ maVr` amï´>r` Midi (15)
2) ‘hmamï´>, ̂ maV Am{U OmJ{VH$ ̂ yJmob (15)
3) ^maVr` amÁ¶ì¶dñWm Am{U emgZ (15)
4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
6) gm‘mÝ` {dkmZ (15)
7) Mmby KS>m‘moS>r - amï´>r` Am{U Am§Vaamï´>r` ‘hÎd (15)
8) Vm{H©$H$ Am{U {dl²bofUmË‘H$ j‘Vm (10)
9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë` d Am§Vaì¶º$s H$m¡eë` (5)
12) AmH$bZ, ‘amR>r Am{U B§J«Or ̂ mfm AmH$bZ H$m¡eë ò (50)
13) ‘m{hVr A{YH$ma A{Y{Z¶‘ (5)
14) ‘hmamîQ́> bmoH$godm h¸$ (5)
15) ‘m{hVr d g§àofU V§ÌkmZ (10)

(1) ^maVmMm B{Vhmg Am{U ^maVr` amḯ>r` Midi (15)
1) àmMrZ ^maVmMm B{Vhmg (4)
2) ‘Ü¶¶wJrZ ^maVmMm B{Vhmg (3)
3) AmYw{ZH$ ^maVmMm B{Vhmg (4)
4) ^maVr` amï´>r` Midi (4)

(2) ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob (15)
1) OJmMm ^m¡{VH$ ŷJmob (3)
2) OJmMm gm‘m{OH$ ŷJmob (1)
3) OJmMm Am{W©H$ ŷJmob (1)
4) ^maVmMm ^m¡{VH$ ŷJmob (2)
5) ^maVmMm gm‘m{OH$ ŷJmob (1)
6) ^maVmMm Am{W©H$ ŷJmob (2)
7) ‘hmamï´>mMm ^m¡{VH$ ŷJmob (2)
8) ‘hmamï´>mMm gm‘m{OH$ ŷJmob (1)
9) ‘hmamï´>mMm Am{W©H$ ŷJmob (2)

(3) ‘hmamḯ> Am{U ^maV - ^maVr` amOH$maU Am{U emgZ (15)
1) g§{dYmZ - ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg (3)
2) amOH$s` ì`dñWm (3)
3) n§Mm`Vr amO Am{U ehar emgZ (3)
4) gmd©O{ZH$ YmoaU (3)
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5) ‘mZdr h¸$ g‘ñ`m (3)
* ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005
* ‘hmamîQ´> bmoH$godm h¸$, 2015

(4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) eml²dV {dH$mg (2)
2) J[a~r (2)
3) g‘mdoe (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) {dXoer ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

(5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s (2)
2) O¡d{d{dYVm (2)
3) hdm‘mZ ~Xb (2)

(6) gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó (3)
2) agm¶Zemó (3)
3) àm{Uemó (2)
4) dZñn{Vemó (2)
5) H¥$fr / eoVrg§b¾ {dkmZ (2)
6) Amamo½¶emó (5)
7) {dkmZ Am{U V§ÌkmZ (2)
* ‘m{hVr d g§àofU V§ÌkmZ

(7) Mmby KS>m‘moS>r, amḯ>r` Am{U Am§Vaamḯ>r` ‘hÎd (15)
1) amOH$s¶ KQ>Zm (2)
2) Am{W©H$ d {dÎmr¶ KQ>Zm (2)
3) d¡km{ZH$ KQ>Zm (2)
4) gm‘m{OH$ d e¡j{UH$ KQ>Zm (2)
5) ^m¡Jmo{bH$, gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm (3)
6) Zo‘UwH$m d nwañH$ma$ KQ>Zm (2)
7) gm‘mÝ¶kmZ d H«$sS>m{df¶H$ KQ>Zm (2)
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(8) Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm (10)
1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo, {dYmZo Am{U {ZîH$f©
2) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, VwbZm dm ‘mZm§H$Z
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {dl²bofU, Hy$Q> ‘m{hVrdarb àíZ, g‘ñ`m gmoS>dUo
10) {dXoMm nwaonUm

(9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
1) g§»¶m, {MÝho H«$‘ Am{U ‘m{bH$m
2) dU©H«$‘ Am{U ‘m{bH$m
3) gm§Ho${VH$ ̂ mfm / H$moqS>J-{S>H$moqS>J
4) gmå¶, VwbZm, dJuH$aU
5) J{UVr` / A§H$J{UVr` {H«$`m
6) ^m¡{‘{VH$ , doZ AmH¥$Ë`m§da àíZ
7) H«$‘nyV©Vm, à{V‘m, KZ, KS>çm, AmH¥$Ë`m§da àíZ

(10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
1) A§H$J{UVr¶ H$m¡eë¶ - Xem§e AnyUmªH$, ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U gabrH$aU

g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi
2) Q> o̧$dmar, ^mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO
5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb àíZ
6) g§̂ mì`Vm, H«$‘M¶, gamgar, doZ AmH¥$Ë¶m
7) ~rOJ{UV, ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr

(11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë`- Am§Vaì¶º$s H$m¡eë` (5)
1) n[apñWVr hmVmiUo
2) àemgH$s` j‘Vm
3) gm‘m{OH$ Ym{‘©H$ g‘ñ`m
4) «̂ï>mMma, gMmoQ>r, Z¡{VH$Vm
5) ì`dñWmnH$s` H$m¡eë ò
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(12) CVmao, ‘amR>r Am{U B§J«Or ^mfm AmH$bZ H$m¡eë`(40)
1) Eo{Vhm{gH$ KQ>Zm
2) gmYZg§nÎmr d n¶m©daUr¶ ~m~r
3) amOH$s¶ joÌ
4) Am{W©H$ d gm‘m{OH$ {dH$mg
5) {dkmZ d V§ÌkmZ joÌ
6) H$bm, g{hË¶ d gm§ñH¥${VH$ joÌ
7) ‘amR>r ^mfm AmH$bZ H$m¡eë`
8) B§J«Or ^mfm AmH$bZ H$m¡eë`

(13) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(14) ‘hmamîQ́> bmoH$godm h¸$, 2015 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(15) ‘m{hVr d g§àofU V§ÌkmZ (10)
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.
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‘hmamḯ> ZmJar godm amOn{ÌV nyd© narjm 2023

 ‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)2023
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or

1) ‘amR>r ^mfm (50)

(1) gd©gm_mÝ` eãXg§J«h /15
(2) dmŠ`aMZm/13
(3) ì`mH$aU/12
(4)  åhUr d dmH²$àMma (AW© d Cn`moJ)/5
(5) CVmè`mdarc àíZmoÎmao/5

(2) B§J«Or ^mfm /50

(6) CommonVocabualry / 10

(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~wpÜX‘mnZ MmMUr
1) _hmamï´>mMm ̂ yJmoc /10
2) n¶m©daU /5
3) ^maVr¶ amÁ¶KQ>Zm/10
4) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
5) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
6) g‘J«bú¶r AW©emó /5
7) ^maVr¶ AW©ì¶dñWm/10
8) gm‘mÝ¶ {dkmZ d V§ÌkmZ /10
9)$ ‘m{hVr d g§àofU V§ÌkmZ /5
10) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamï´>mgh ̂ maVmVrc /15
11) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
12) A§H$J{UV Am{U gm§p»¶H$s /10
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{XdmUr Ý¶m¶mYre H${Zð> ñVa d Ý¶m¶X§S>m{YH$mar àW‘ dJ© narjm -2023

Civil judge (Junior Div) & Judicial Magistrate (1st Class)

Preliminary Examination

* Standard : Suitable to the post

* Maximum Marks : 100

* Medium : English

* Duration : Two Hours

* Nature of the paper : Objective type ( multiple choice question)

nyd©narjoMm Aä¶mgH«$‘
1) H$moS> Am°’$ {H«${‘Zc àmo{gOa
2) {gpìhc àmo{gOa H$moS>
3) EpìhS>Ýg A°³Q>
4) Q´>mÝg’$a Am°’$ àm°nQ>u A°³Q>
5) ñno{g{’$H$ [a{c’$ A°³Q>
6) ‘hmamï´> a|Q> H§$Q´>moc A°³Q>
7) {c{‘Q>oeZ A°³Q>
8) H$m°pÝñQ>Q>çweZ Am°’$ B§{S>¶m
9) B§{S>¶Z {nZc H$moS>
10) cm° Am°’$ H$m°ÝQ´>°³Q>, goc Am°’$ JwS²>g A°³Q> A°ÝS> nmQ>©Za{en A°³Q>

* Syllabus for Competitive Examination to the post of recruitment for Civil judge ( junior

Division ) & Judicial Magistrate ( First Class) ( Preliminary) Examination under judi-

cial Service of the Government of Maharashtra .

1) Code of Criminal Procedure

2) Civil Procedure Code

3) Evidence Act

4) Transfer of property Act

5) Specific Relief Act

6) Maharashtra Rent Control Act

7) Limitation Act

8) Constitution of India

9) Indian penal Code

10) Law of Contracts, Sale of Goods Act & Partnership
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

gm‘mÝ` ‘mZ{gH$ j‘Vm

gm‘mÝ` ‘mZ{gH$ j‘Vm {df¶mMo KQ>H$, CnKQ>H$ Am{U ‘hÎdmMo ‘wÔo

1) g§»¶m, {MÝho H«$‘ Am{U ‘m{bH$m
2) dU©H«$‘ Am{U ‘m{bH$m
3) gm§Ho${VH$ ̂ mfm/ H$moqS>J-{S>H$moqS>J
4) gmå¶/VwbZm, dJuH$aU/ {dg§JVr
5) J{UVr` / A§H$J{UVr` {H«$`m
6) ^m¡{‘{VH$ , doZ, àdmh Vº$m AmH¥$Ë`m§da àl²Z

7) H«$‘nyV©Vm, VwbZm, à{V‘m, KZ, KS>çm, AmH¥$Ë`m§da àíZ
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(1) g§»¶m, {MÝho H«$‘ Am{U ‘m{bH$m
1) g§»¶m‘m{bH$m
2) {MÝho H«$‘, dU©-A§H$ ‘m{bH$m
3) AmH¥$VrVrb g§»¶m‘m{bH$m

1) g§»¶m‘m{bH$m
1) Imbrb ‘m{bHo$Vrb Jhmi H«$‘m§H$ emoYm.

4, 7, 29, 62, ?
1) 95 2) 106 3) 62 4) 102

1) Find out the missing number in the following series.

4, 7, 29, 62, ?

1) 95 2) 106 3) 62 4) 102

2) Imbrb ‘m{bHo$Vrb {df‘ g§»`m emoYm.
23, 47, 81, 119
1) 23 2) 47 3) 81 4) 119

2) Find out the odd number in following series.

23, 47, 81, 119

1) 23 2) 47 3) 81 4) 119

3) 999, 333, 666, 222, 444, ......... , 296
1) 111 2) 555 3) 148 4) 777

3) 999, 333, 666, 222, 444, ............ , 296

1) 111 2) 555 3) 148 4) 777

4) Imbrb H«$‘m§H$mMr ‘m{bH$m nyU© H$am.
1, 2, 3, 6, 9, 18, (?), 54
n`m©̀  CÎmao :
1) 18 2) 36 3) 27 4) 81

4) Complete the following number series.

1, 2, 3, 6, 9, 18, (?), 54

Answers Options :

1) 18 2) 36 3) 27 4) 81

5) àíZ {MÝhmÀ¶m OmJr H$moUVr g§»¶m ¶oB©b ?
31, 15, 6,  ? , 1
1) 7 2) 4 3) 2 4) 1

5) Which number will be there at Questionmark ?

31, 15, 6,  ? , 1

1) 7 2) 4 3) 2 4) 1
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6) [aH$må¶m OmJogmR>r ¶mo½¶ A§H$ emoYm … 27, 32, ......., 54, 71, 92
1) 37 2) 41 3) 51 4) 52

6) Find out the missing number : 27, 32, ................, 54, 71, 92

1) 37 2) 41 3) 51 4) 52

7) nwT>rb H«${‘Ho$‘Ü¶o àý{MÝhmÀ¶m (?) OmJr ¶mo½¶ n¶m©¶ {ZdS>m.
32, 33, 37, 46, 62, ?
1) 83 2) 87 3) 94 4) 98

7) Replace the question mark (?) by an appropriate alternative in the following series :

32, 33, 37, 46, 62, ____ ? ____

1) 83 2) 87 3) 94 4) 98

8) ‘m{bHo$Vrb Jmibobm A§H$ emoYm …
43, 95, 167, ?, 373, 507
1) 261 2) 259 3) 360 4) 257

8) Find the missing number in the series :

43, 95, 167, ?, 373, 507

1) 261 2) 259 3) 360 4) 257

9) Jmiboë¶m OmJoVrb g§km emoYm.
X 11, V 13, S 17, O 23, ..........

1) K 25 2) I 27 3) J 31 4) F 32

9) Find out the next missing term.

X 11, V 13, S 17, O 23, ..........

1) K 25 2) I 27 3) J 31 4) F 32

10) Imbrb g§»¶m ‘m{bHo$Vrb MwH$sMo nX H$moUVo ?
7, 25, 61, 125, 211
1) 25 2) 61 3) 125 4) 211

10) Which is the wrong term in the following number series?

7, 25, 61, 125, 211

1) 25 2) 61 3) 125 4) 211

2) {MÝho H«$‘, A§H$‘m§S>Ur, dU©-A§H$ ‘m{bH$m
1) Imbrb g§»`m e¥§Ibm‘Ü ò {H$Vr 8 AmhoV Á`m§Zm Ë`mÀ`m VmËH$mi AmJmoXa Zo {Z:eof ^mJ OmVmo Am{U bJoM Z§VaÀ`m

g§» òZo ^mJ OmVmo?
8 2 4 5 1 7 2 8 4 8 4 2 2 8 2 6 9 8 4 5 4 8 3 2 8 4 3 1 8 3
1) 1 2) 2 3) 3 4) 4

1) How many 8's are there in the following number series which are exactly divisible by its immediately

preceding and also divisible by immediately succeeding numbers?

8 2 4 5 1 7 2 8 4 8 4 2 2 8 2 6 9 8 4 5 4 8 3 2 8 4 3 1 8 3

1) 1 2) 2 3) 3 4) 4
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2) dUm©jam§gmR>r {Xbobo g§Ho$V g§nyU© ‘m{bHo$gmR>r H«$‘e… nwZamd¥Îm Ho$bo Agë¶mg {Xboë¶m eãXmMo gm§Ho${VH$ ê$n {ZdS>m

FAIR WELL = ?

1) 2) 

3) 4) 

2) If the codes given for alphabets are repeated serially for a whole sequence of alphabets then

select the codes for the given words.

FAIR WELL = ?

1) 2) 

3) 4) 

3) Jmibobr OmJm ^am.

1) DF, 8 2) SU, 4 3) BG, 7 4) GK, 2

3) Insert the missing character.

1) DF, 8 2) SU, 4 3) BG, 7 4) GK, 2

4) Imbrb àíZmVrb g§»`m/Ajao {d{eï> n°Q>Z© n§º$sZwgma qH$dm ñV§̂ mZwgma {b{hbr AmhoV. Z‘wZm AmoiIm Am{U
Ë`mZwgma Jhmi g§»`m/dU©‘mbm emoYm.

1) 18 A 2) 12 A 3) 18 B 4) 81 A
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4) In the following question are written according to certain pattern row-wise or column-wise. Identify

the pattern and find the missing number / alphabet accordingly.

1) 18 A 2) 12 A 3) 18 B 4) 81 A

3) AmH¥$VrVrb g§»¶m‘m{bH$m
1) {Xboë`m n`m©̀ m§n¡H$s Jhmi g§»`m emoYm.

1) 3620 2) 5040 3) 17640 4) 18960
1) Find the missing number from amongst the given alternatives.

1) 3620 2) 5040 3) 17640 4) 18960

2) Z{MÝhmÀ`m OmJr H$moUVr g§»`m òB©b?

1) 256 2) 289 3) 290 4) 225
2) Which number will replace the question mark?

1) 256 2) 289 3) 290 4) 225
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3) Imbrb AmH¥$Vr Aä¶mgyZ àíZ{MÝhmÀ¶m OmJr ¶mo½¶ g§»¶m {bhm.

1) 30 2) 27 3) 28 4) 32
3) Study the figure below and write the correct number in place of the question mark.

1) 30 2) 27 3) 28 4) 32

4) Imbrb àíZm§V ZD$ Mm¡H$Q>r {Xboë¶m AmhoV. Ë¶m Mm¡H$Q>rVrb A§H$ {d{eï> n°Q>Z©Zwgma AmhoV. [aH$må¶m OmJoVrb A§H$
emoYm.

1) 36 2) 12 3) 32 4) 06
4) Nine boxes are given in the following questions. The numbers in that box follow a specific pat-

tern. Find the digit in the blank space.

1) 36 2) 12 3) 32 4) 06

5) àíZ {MÝhmÀ¶m {R>H$mUr ¶mo½¶ g§»¶m emoYm.

1) 81 2) 72 3) 53 4) 01
5) Find out the number for question mark :

1) 81 2) 72 3) 53 4) 01
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6) ‘moH$ù¶m OmJoVrb ¶mo½¶ g§»¶m emoYm.

1) 4 2 3 2) 3 2 2 3) 6 4 3 4) 2 4 6
6) Find out the number for question mark :

1) 4 2 3 2) 3 2 2 3) 6 4 3 4) 2 4 6

7) {Xboë¶m g§»¶m e§Hy$Vrb Vmè¶mÀ¶m {R>H$mUr ¶oUmar g§»¶m emoYm.

1) 18 2) 6 3) 16 4) 20
7) Find the number at the place of star, in given number pyramid.

1) 18 2) 6 3) 16 4) 20
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8) Mm¡H$moZ ^m¡{‘{VH$ AmH¥$Vr‘Ü¶o EH$m [aH$må¶m OmJr àíZmW©H$ {MÝh Amho. Ë¶m {R>H$mUMr g§»¶m CÎmamgmR>r {bhmd¶mMr
Amho.

1) 112 2) 196 3) 252 4) 166
8) A square geometric figure has a question mark in a blank space. The number of that place is to be

written for the answer.

1) 112 2) 196 3) 252 4) 166

9) Imbrb AmH¥$Vr‘Ü¶o àíZ{MÝhmÀ¶m OmJr H$moUVr g§»¶m ¶oB©b?

1) 116 2) 111 3) 114 4) 112
9) What will be the number at the place of question mark ?

1) 116 2) 111 3) 114 4) 112

10) Imbrb Am¶VmH¥$VrV ZD$ aH$mZo AmhoV. Ë¶m àË¶oH$mV A§H$ AmhoV. hr A§H$ H$mhr {Z¶‘m§Mo nmbZ H$aVmV. Vmo {Z¶‘
emoYyZ [aH$må¶m aH$mÝ¶mVrb A§H$ emoYm.

1) 244 2) 280 3) 120 4) 136
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10) There are nine cells in the rectangle. Each cell has a number that has followed a certain rule. Find

out the rule and fill the empty cell.

1) 244 2) 280 3) 120 4) 136

11) {Xboë¶m g§»¶m g§aMZoV àíZmW©H$ {MÝhmÀ¶m {R>H$mUr ¶mo½¶ n¶m©¶ {ZdS>m.

1) 67 2) 65 3) 86 4) 37
11) Select the correct option in place of the question mark; in the given number structure.

1) 67 2) 65 3) 86 4) 37

12) Imbrb AmH¥$VrV àíZ{MÝhmÀ¶m OmJr g§»¶m emoYm …

1) 0 2) 512 3) 2 4) 8
12) Find the number for replacing the question mark :

1) 0 2) 512 3) 2 4) 8
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13) Imbrbn¡H$s H$moUVm A§H$ [aH$må¶m OmJr ¶oB©b?

1) 8 2) 10 3) 14 4) 16
13) Which one of the following numbers will occupy the blank space?

1) 8 2) 10 3) 14 4) 16

14) Imbrb AmH¥$VrV àíZ{MÝhmÀ¶m {R>H$mUr H$moUVr g§»¶m ¶oB©b?

1) 20 2) 34 3) 31 4) 13
14) Which number will replace the question mark in following figure ?

1) 20 2) 34 3) 31 4) 13

15) àíZ {MÝhmÀ¶m {R>H$mUr H$moUVr g§»¶m ¶oB©b?

1) 30 2) 14 3) 34 4) 32
15) What number should replace-the question mark ?

1) 30 2) 14 3) 34 4) 32
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(2) dU©H«$‘ Am{U ‘m{bH$m
1) dU©H«$‘ d eãXaMZm
2) dU©‘m{bH$m
3) AmH¥$VrVrb dU©‘m{bH$m

1) dU©H«$‘ d eãXaMZm
1) Oa B§J«Or Ajao, A Vo M ‘Yrb Ajao AZwH«$‘o 1 Vo 13 n¶ªVMr g§»¶m Xe©{dV AgVrb Am{U N eyÝ¶ Xe©{dV Agob

Am{U O Vo Z ‘Yrb Ajao AZwH«$‘o -1 Vo -12 n¶ªV AgVrb Va SUCCESS Xe©{dUmè¶m nyUmªH$mMr ~oarO {H$Vr
Agob?
1) -11 2) 11 3) 16 4) 20

1) If the letters in the English alphabets, A to M represent number from 1 to 13 respectively and N

represents zero and the letters O to Z correspond from — 1 to —12 what will be sum of integers

in the word SUCCESS ?

1) -11 2) 11 3) 16 4) 20

2) Imbrb AjaJQ> dmnê$Z, Ajambm S>mdrH$S>o bmJyZ Agboë¶m AjamÀ¶m COdrH$Sy>Z {Vgè¶m Ajambm bmJyZ S>mdrH$S>o
Agboë¶m AjamÀ¶m COdrH$Sy>Z {Vgao Aja {ZdS>m.
A B C D E F G H

1) E 2) F 3) G 4) H
2) Select by using the following group of letters, the letter that comes third to the right of the letter

that comes immediately to the left of the letter, that comes third to the right of the letter,

immediately to the left of the letter B.

A B C D E F G H

1) E 2) F 3) G 4) H

3)  PCYO ‘Yrb gd© dU© dmnê$Z {H$Vr AW©nyU© B§J«Or eãX V`ma Ho$bo OmD$ eH$VmV, H$s Á¶m‘Ü¶o àË òH$ eãXmV EH$
dU© ’$º$ EH$XmM dmnabm OmVmo ?
1) EH$hr Zmhr 2) EH$ 3) XmoZ 4) VrZ

3) How many meaningful English words can be formed with letters PCYO using all the letters but

each letter only once in each words?

1) None 2) One 3) Two 4) Three

4) 'FALSEHOOD' `m ñnoqbJÀ`m n{hë`m, Xwgè`m, Mm¡Ï`m Am{U nmMì`m Ajam§nmgyZ EH$ AW©nyU© eãX V`ma hmoVmo.
Ë`m eãXmÀ`m ñnoqbJÀ`m COdrH$S>rb {Vgao Aja H$moUVo?
1) F 2) A 3) E 4) S

4) One meaningful word is formed from the first, second, fourth and fifth letters of spelling

'FALSEHOOD'. Which is the third letter from the right of the spelling of that word?

1) F 2) A 3) E 4) S
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5) B§J«Or eãXH$moemV Imbrbn¡H$s H$moUVm eãX Xwgè`m H«$‘m§H$mda òB©b?
1) OmXwB© 2) Mw§~H$s` 3) ‘mV¥ 4) ‘moR>o H$am

5) Which of the following word will come second in the English dictionary?

1) Magical 2) Magnetic 3) Maternal 4) Magnify

6) Imbr {Xbobo eãX AmÚmjamZwgma bmdm. H$moUVm eãX {Vgè`m H«$‘m§H$mÀ¶m OmJoda ¶oB©b ?
i) emancipate ii) elysium iii) eligible iv) emblem

n¶m©¶r CÎmao …
1) emancipate 2) elysium 3) eligible 4) emblem

6) Arrange the following words according to their initials. Which word will come in third place?

i) emancipate ii) elysium iii) eligible iv) emblem

Answer Options :

1) emancipate 2) elysium 3) eligible 4) emblem

2) dU©‘m{bH$m
1) Jmiboë¶m OmJr ¶mo½¶ eãX emoYm.

CX, FU, IR, ........., OL

1) LO 2) OM 3) MP 4) OO

1) Find out the missing term.

CX, FU, IR, ........., OL

1) LO 2) OM 3) MP 4) OO

2) ‘m{bHo$Vrb nwT>rb nX emoYm …
EWC, JSF, OOI, TKL, ?

1) VDX 2) YGO 3) QQK 4) YGP

2) Find the next term in the series :

EWC, JSF, OOI, TKL, ?

1) VDX 2) YGO 3) QQK 4) YGP

3) Imbr {Xboë¶m B§J«Or dU©‘mboÀ¶m Aja g‘whmÀ¶m loUr‘Ü¶o àíZ{MÝhmÀ¶m (?) OmJr H$moUVm g‘yh ¶oB©b?
BZA, DYC, FXE, ?, JVI

1) WHG 2) HUG 3) HWG 4) UHG

3) In the following English alphabet's letter groups series, which group will come in the place of the

question mark?

BZA, DYC, FXE, ?, JVI

1) WHG 2) HUG 3) HWG 4) UHG

4) Imbrb àíZmV H$mhr Ajao dJibobr AmhoV. dJibobr Ajao ¶mo½¶ H«$‘mZo n¶m©¶mV {Xbobr AmhoV. Ë¶mn¡H$s ¶mo½¶ n¶m©¶
{ZdS>m.
aac - bba - cc - baa - cb -

1) a c b a c 2) c a b c b 3) b a c b c 4) a b a a c
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4) Some letters are omitted in the following question. The omitted letters are substituted in the

correct order. Choose the correct option among them.

aac - bba - cc - baa - cb -

1) a c b a c 2) c a b c b 3) b a c b c 4) a b a a c

5) Imbrb dU©‘m{bH$m nyU© H$am.
ab_ _ _ b _ bbaa _

1) A~m~ 2) Aã~m~ 3) ~m°~ 4) ~ã~m
5) Complete the following letter series.

ab_ _ _ b _ bbaa _

1) abaab 2) abbab 3) baaab 4) babba

3) AmH¥$VrVrb dU©‘m{bH$m
1) àíZ{MÝhmÀ¶m {R>H$mUr dUm©ja {ZdS>m.

1) Q 2) A 3) P 4) O
1) Select the alphabet in place of the question mark.

1) T 2) A 3) Z 4) J

2) Imbrb Aja {ÌH$moUmdê$Z Vr ì¶dñWm H$m¶ Amho Vo AmoiIm. Ë¶m ì¶dñWoÀ¶m AmYmamda gdm©V ImbÀ¶m Amoitda
S>mdrH$Sy>Z Mm¡Wo Aja H$moUVo?

n¶m©¶r CÎmao …
1) C 2) F 3) J 4) P



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` ‘mZ{gH$ j‘Vm / 36

For Private Circulation Only

2) Identify the management system from the following letter triangle. On the basis of that management

system, which is the fourth letter from the left side on the bottom line ?

Answer Options :

1) C 2) F 3) J 4) P

3) Oa A = 1, B = 2, C = 3, D = 4 ¶m à‘mUo Agë¶mg AmH¥$Vr‘Yrb bwá ^mJ emoYm.

1) 2) 3) 4) 

3) Find the missing part if A = 1, B = 2, C = 3, D = 4 respectively.

1)  2)  3) 4) 
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(3) gm§Ho${VH$ ^mfm/ H$moqS>J-{S>H$moqS>J

1) B§J«Or Ajao-eãXm§Mr gm§Ho${VH$ ̂ mfm
2) B§J«Or dm³¶m§Mr gm§Ho${VH$ ̂ mfm
3) g§»¶m - g§Ho$V/ B§J«Or Ajao/eãXm§Mr gm§Ho${VH$ ̂ mfm

1) B§JOr Ajao-eãXm§Mr gm§Ho${VH$ ^mfm
1) Oa AjaJQ> HJLN Mm g§Ho$V ILOR Agm Agob, Va Ë¶mM VÎdmZo DFHJ AjaJQ>mgmR>r H$moUVm n¶m©¶ ~amo~a

Agob?
1) FHJN 2) EHKN 3) EGIL 4) FHIN

1) If the letter group HJLN is coded as ILOR, then by the same principal what could be the correct

code for the letter group DFHJ ?

1) FHJN 2) EHKN 3) EGIL 4) FHIN

2) EH$m {d{eï> ̂ mfoV 'MAHARASHTRA' hm eãX 'AAAHR' Agm {b{hVmV Va 'COMMUNICATION' hm eãX
H$gm {c{hcm OmB©b ?

1) MMMCA 2) CMNCTO 3) MUNICA 4) NMON

2) In a certain language, the word 'MAHARASHTRA' is written as 'AAAHR', how will the word

'COMMUNICATION' will be written ?

1) MMMCA 2) CMNCTO 3) MUNICA 4) NMON

3) EH$m g§Ho$V àUmbrZwgma 'ge ji zo' hm g§Ho$V 'had pleasant dream' à{Vê${nV H$aVmo. 'lit zo pit' hm g§Ho$V 'realize

your dream' à{Vê${nV H$aVmo Am{U 'ge ze pat ze' hm g§Ho$V 'very very pleasant experience' à{Vê${nV
H$aVmo. ¶m g§Ho$V àUmbrZwgma 'your' Mm g§Ho$V {ZdS>m.
1) lit 2) zo 3) pit 4) pit qH$dm lit

3) In certain code ‘ge ji zo’ represents ‘had pleasant dream’; ‘lit zo pit’ represents ‘realize your

dream’ and ‘ge ze pat ze’ represents ‘very very pleasant experience’. Select code that represents

‘your’.

1) lit 2) zo 3) pit 4) Either pit or lit

4) Oa R bm N Zr Xe©{dbo, D bm T Zr Xe©{dbo, I bm U Zr, O bm I Zr, E bm R Zr, T bm O Zr, U bm D Zr,
N bm C Zr Am{U C bm E Zr, Va INTRODUCE hm eãX H$gm {bhmb.
1) UCONIDTER 2) UCONITDER 3) UCONTIDER 4) UCOINTDER

4) If R is denoted by N, D is denoted by T, I by U, O by I, E by R, T by O, U by D, N by C and C by E,

then how will the word INTRODUCE be written ?

1) UCONIDTER 2) UCONITDER 3) UCONTIDER 4) UCOINTDER
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5) Oa EH$m gm§Ho${VH$ ̂ mfoV, BOMBAY bm MYMYMY Ago {b{hVmV, Va Ë¶mM gm§Ho${VH$ ̂ mfoV TAMILNADU

bm H$go {bhmb ?
1) TIATIATIA 2) MNUMNUMNU 3) IATIATIAT 4) ALDALDALD

5) In a certain code, BOMBAY is written as MYMYMY, how will TAMILNADU be written in that

code ?

1) TIATIATIA 2) MNUMNUMNU 3) IATIATIAT 4) ALDALDALD

2) B§J«Or dm³¶m§Mr gm§Ho${VH$ ^mfm
1) EH$m g§Ho$VmZwgma "H¥$n¶m Xam CKS>m' ho "‘n aQ> X’$' Ago {b{hVmV. VgoM "Xma ~§X Amho' ho "X’$ JA db' Ago

{b{hVmV. "gd© CÎm‘ Amho' ho Oa "OP VZ JA' Ago {b{hVmV. ¶m g§Ho$VmZwgma "~§X' ¶m eãXmMm g§Ho$V {ZdS>m.
1) VZ 2) X’$ 3) JA 4) db

1) According to a clue ''Please open the door'' is written as ''Mup Rut Daf ''. Also, ''the door is

closed'', is written as " Daf ga Val " . "All is good" is written as "jaz tan ga" . According to this clue

select the clue of the word '' closed " .

1) Tan 2) Daf 3) Ga 4) Val

2) nwT>o {Xboë¶m A{^ì¶º$s Aä¶mgyZ An[a{MV ^mfoMr g§aMZm AmoiIm. ¶mgmR>r XmoZ J¥hrVHo$ dmnam … {Z¶‘mbm AndmX
Zmhr Am{U ’$º$ {Xboë¶m A{^ì¶º$sVyZ gm{YV {Z¶‘ bmJy nS>VmV.
nepu pelkeui = the girl is coming from the hut.

napu tipkeu = The dog is going to the hut.

lam mirkeui = The farmer is walking from the field.

dowl pelkeu = The girl is running to the meadow.

"The dog is walking to the meadow" ho ¶m ̂ mfoV ì¶º$ H$aUmam n¶m©¶ {ZdS>m.
1) dowl tipkeu 2) dowl tipkeui 3) dowl mirkeu 4) napu mirkeu

2) Study the following expressions and recognise structure of the unfamiliar language.

Use two assumptions that : there are no exceptions to the rule, and only those rules apply which

may be derived from the given expressions.

nepu pelkeui = the girl is coming from the hut.

napu tipkeu = The dog is going to the hut.

lam mirkeui = The farmer is walking from the field.

dowl pelkeu = The girl is running to the meadow.

Select the option that expresses “The dog is walking to the meadow” in this language.

1) dowl tipkeu 2) dowl tipkeui 3) dowl mirkeu 4) napu mirkeu

3) {Xbobr CXmhaUo Aä`mgm Am{U "I stood" ¶m A{^ì¶º$sMm g§Ho$V {ZdS>Ê¶mgmR>r {Xbobo {Z¶‘ dmnam … {Z¶‘mbm
H$moUVmhr AndmX Zmhr Am{U ’$º$ {Xboë¶m A{^ì¶º$sÀ¶m AmYmao V¶ma Pmbobo {Z¶‘ dmnam.
CXmhaUo … koloa ⇒ I lie; kolue ⇒ he lay; Am{U satoe = he stands

1) satoa 2) kolua 3) satoe 4) satua
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3) Study the examples and use following rules for selecting the code for the expression “T stood” :

there are no exceptions to the rule and only those rules apply that may be derived from the provided

expressions.

Examples : koloa ⇒ I lie; kolue ⇒ he lay; and satoe = he stands

1) satoa 2) kolua 3) satoe 4) satua

4) EH$m g§Ho$V àUmcrZwgma, 'poachers killed some tigers' Mm g§Ho$V 'sto del war vqr' hm Amho, 'tigers are brave

creatures' Mm g§Ho$V 'puz war lyn mul' hm Amho, 'some watchmen are brave' Mm g§Ho$V 'sto mul lyn kig'

Agm Amho Am{U 'watchmen are searching poachers' Mm g§Ho$V 'del agf kig lyn' Agm Amho. ¶m g§Ho$V
àUmcrZwgma 'creatures killed watchman' Mm g§Ho$V {ZdS>m.
1) kig, agf, del 2) vqr, puz, kig 3) puz, del, vqr 4) lyn, kig, agf

4) According to certain coding system, ‘poachers killed some tigers’ is coded as ‘sto del war var’,

‘tigers are brave creatures’ is coded as ‘puz war lyn mul’, ‘some watchmen are brave’ is coded as

‘sto mul lyn kig’ and ‘watchmen are searching poachers’ is coded as ‘del agf kig lyn’. Select the

code for ‘creatures killed watchman’.

1) kig, agf, del 2) var, puz, kig 3) puz, del, var 4) lyn, kig, agf

5) 'Vr gr noem~' åhUOo '’$im§Mm ag ß`m.'
'gr H$s br' åhUOo 'ag JmoS> Amho' Am{U
'br ar ‘r' åhUOo 'Vmo ~w{Õ‘mZ Amho'.
Ë`m ^mfoVrb H$moUË`m eãXmMm AW© 'JmoS>' Amho?
1) nhm 2) Ho$B© 3) br 4) bKdr

5) If 'tee see pee' means 'drink fruit juice.'

'see kee lee' means 'juice is sweet' and

'lee ree mee' means 'he is intelligent'.

which word in that language mean 'sweet'?

1) see 2) kee 3) lee 4) pee

3) g§»¶m - g§Ho$V/B§J«Or Ajao/eãXm§Mr gm§Ho${VH$ ^mfm
1) gmo~VÀ¶m gmaUrV eãX d àË¶oH$ AmoirV {Xbobo Ë¶m§Mo {dñH$irV Ho$bobo g§JV A§H$ g§Ho$V Aä¶mgm Am{U Ë¶mVyZ

CnbãY Pmboë¶m ‘m{hVr~ÔbMo MwH$sMo {dYmZ {ZdS>m.

1) ¶m àUmbrZwgma Oa A§H$ 0 Mm dmna I Mm g§Ho$V åhUyZ Ho$bm Va PRIDE Mo g§Ho$VZ H$aUo e³¶ Amho.
2) dUm©ja O Mm g§Ho$V 1 Amho.
3) ¶m eãXm§Vrb gd© Ajam§Mo ñdV§Ì g§Ho$V {ZpíMV H$aUo e³¶ Amho.
4) {dñH$irV H$aÊ¶mnydu DREAM ¶m eãXmMm g§Ho$V 58369 hm hmoVm.
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1) Study the accompanying table of words and their corresponding shuffled digital codes given in

each row and select the false statement about the information derived from it.

1) It is possible to code the word PRIDE as per this system if digit 0 is used as code for I. .

2) 1 is the code for letter O.

3) It is possible to decide individual codes of all letters present in these words.

4) Actual digital code of word DREAM is 58369 before it is shuffled.

2) EH$m gm§Ho${VH$ {bnrV RED = 9 Am{U BLUE = 10 Va WHITE = ?

1) 13 2) 15 3) 17 4) 19
2) Ina code language, RED = 9 and BLUE = 10. Then WHITE = ?

1) 13 2) 15 3) 17 4) 19

3) g’$c Am{U {X¶mZo JwánUo g§Xoe coIZmgmR>r g§Ho$VàUmcr V¶ma Ho$cr Amho. Vr àUmcr nwT>rc {Z¶‘m§da AmYm[aV Amho.
a) A Vo M n¶ªVÀ¶m àË¶oH$ AjamEodOr N Vo Z n¶ªVMr g‘H«$‘ Ajao R>odm¶Mr. ¶mà‘mUo A EodOr N,B EodOr O

BË¶mXr Am{U N Vo Z AjamEodOr A Vo M Ajao CcQ>çm H«$‘mZo ‘m§Sy>Z g‘H«$‘ Ajao R>odm¶Mr. ¶mà‘mUo N EodOr
M,Z EodOr A ¶mà‘mUo

b) à{H«$¶m 1 ‘YyZ {‘imcoë¶m àË¶oH$ AjamEodOr dUm©jao CcQ>çm H«$‘mZo ‘m§Sy>Z Ë¶m àË¶oH$ AjamMm XmoZ A§H$s H«$‘
VoWo R>odm¶Mm. åhUOo A hmoB©c 26, B hmoB©c, 25, × hmoB©c 03, ¶mà‘mUo.

¶m àUmcrZwgma INVESTOR ¶m eãXmMm g§Ho$V {ZdS>m.
1) 0514220919201518 2) 05142109192115178
3) 0513220919201519 4) 0514211019201318

3) Safal and Dia formulated a coding system for texting the messages secretly. This system is based

on following rules.

a) Replace each letter from A to M by equivalent letters from N to Z; thus A is replaced by N, B is

replaced by O and continued. And letters from N to Z are replaced by equivalent letters by

arranging A to M in reverse order; thus N is replaced by M, Z is replaced by A and continued.

b) Replace each letter resulting from operation 1 by a two digit number according to its place in

the alphabets arranged in reversed order using; so A becomes 26, B becomes 25, X becomes

03 and so on.

Select the coded form of word INVESTOR according to this system.

1) 0514220919201518 2) 0514210919211518

3) 0513220919201519 4) 0514211019201318

4) REST, MITE, STIR Am{U TRIM ¶mn¡H$s VrZ eãXm§À¶m A§H$ g§Ho$Vm§Mr AZwH«$‘ahrV ¶mXr 1456, 3154 d 4231
Aer Amho. SEMI ¶m eãXmgmR>r g§Ho$V {ZdS>m.
1) 5625 2) 4265 3) 3265 4) 3526

4) The number code for three words from among REST, MITE, STIR and TRIM are listed here in a

random order as 1456, 3154 and 4231. Select the code for word SEMI.

1) 5625 2) 4265 3) 3265 4) 3526
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5) ñV§̂  I ho A§H$mÀ¶m g§Ho$VmV Ho$bobo Amho ho ñV§̂  II ‘Ü¶o {b{hbobo AmhoV. nU A§H$mMm H«$‘ hm doJim Amho. Ajam§Mm
¶mo½¶ H«$‘ AmoiIm.

ñV§̂  I ñV§̂  II

BLO 369

EPL 279

PJT 175

JNS 018

NLB 309

RTJ 451

LJN ¶m eãXmMm A§H$ g§Ho$V H$m¶ Amho ?
1) 713 2) 910 3) 610 4) 817

5) The letters in column I are coded in the form of digits which is written in column II. But

the order of digit is different. Identify the correct code of letters.

Column I Column II

BLO 369

EPL 279

PJT 175

JNS 018

NLB 309

RTJ 451

What will be the code of LJN ?

1) 713 2) 910 3) 610 4) 817

6) gm§Ho${VH$ ^mfoV 15789 hm H«$‘m§H$ "AXBTC" Am{U 2346 hm H«$‘m§H$ "MPDU". Agm {b{hbm OmVmo. ‘J VrM
gm§Ho${VH$ ^mfm dmnê$Z 23549 hm H«$‘m§H$ H$gm {bhm`Mm?
1) MPXDI 2) MPXDC 3) MPADC 4) UKXBC

6) In a code language the number "15789" is written as "AXBTC" and the number "2346" is written an

"MPDU". Then how to write the number "23549" using same code language?

1) MPXDI 2) MPXDC 3) MPADC 4) UKXBC

7) EH$m gm§Ho${VH$ ^mfoV 725 gmR>r *@# hm g§Ho$V Amho. 534 gmR>r $* hm g§Ho$V Amho. 231 gmR>r t@ hm g§Ho$V
Amho. Va 375 ¶m A§H$mgmR>r H$moUVm g§Ho$V Agob ?
1) #* 2) *# 3) *$ 4) #@

7) In a code language, the code *@# is for 725. The code $©* is for 534. The code t©@ is for 231,

then which would be the code for 375 ?

1) #* 2) *# 3) *$ 4) #@



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … gm‘mÝ` ‘mZ{gH$ j‘Vm / 42

For Private Circulation Only

(4) gmå¶/VwbZm, dJuH$aU/ {dg§JVr
1) gmå¶/VwbZm
2) dJuH$aU/ {dg§JVr

1) gmå¶/VwbZm
1) àíZ {MÝhmÀ¶m {R>H$mUr ¶mo½¶ g§H$ënZm AmoiIm.

FVJ : HXD : :  ? : TWP

1) BTW 2) DYV 3) NUR 4) JVF

1) Find out the proper term at the place of question mark.

FVJ : HXD : :  ? : TWP

1) BTW 2) DYV 3) NUR 4) JVF

2) Imbrb g§»¶m§‘Yrb g§~§Y emoYyZ àíZ {MÝhmÀ¶m {R>H$mUr H$moUVr g§»¶m ¶oB©b ?
582271 … 852217 … … 131725 … ?
1) 317152 2) 137125 3) 527131 4) 307125

2) Which number will come in the place of question mark by finding the relationship between the

following numbers?

582271 : 852217 : : 131725 : ?

1) 317152 2) 137125 3) 527131 4) 307125

3) Imbrb JQ>m‘Ü ò Vm{H©$H$Ñï²>`m ~gUmam n`m©̀  {ZdS>m.
H$‘mZ, ñV§̂ , nm`è`m, ......
1) MM© 2) nyb 3) B‘maV 4) {nbmñQ>a

3) Choose the option that fits logically in the following group.

arch, column, stairs, ......

1) church 2) bridge 3) edifice 4) pilaster

4) n¥Ïdr, nmUr, àH$me, dm ẁ Am{U AmH$me `m J«hmgmR>r AZwH«$‘o AmH$me, àH$me, dm ẁ, nmUr Am{U n¥Ïdr `m J«hmÀ`m
gm§Ho${VH$ g§km AmhoV. {VW§ Hw$Umbm VhmZ bmJbr Agob Va Vmo H$m` {nUma?
1) àH$me 2) hdm 3) AmH$me 4) nmUr

4) On a planet the code terms for earth, water, light, air and sky are sky, light, air, water and earth

respectively. If some one is thirsty there, what would he drink?

1) Light 2) Air 3) Sky 4) Water

5) 'W‘m}‘rQ>a' hm 'Vmn‘mZ' er g§~§{YV Amho VgmM 'hm`J«mo‘rQ>a' er g§~§{YV Amho.
1) VmU 2) AmÐ©Vm 3) Xm~ 4) KZVm

5) 'Thermometer' is related to 'Temperature' in same way as 'Hygrometer' is related to

1) Strain 2) Humidity 3) Pressure 4) Density
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2) dJuH$aU/ {dg§JVr
1) Imbrbn¡H$s {dg§JV OmoS>r/JQ> {ZdS>m …

1) (9) 2 2) (243) 6 3) (854) 9 4) (441) 7
1) Choose the odd pair/group in the following :

1) (9) 2 2) (243) 6 3) (854) 9 4) (441) 7

2) Imbr {Xboë¶m g§»¶m loUr‘Ü¶o EH$ g§»¶m MwH$sMr Amho. Imbr {Xboë¶m n¶m©¶m‘YyZ Vr g§»¶m AmoiIm …
3, 7, 16, 32, 56, 93, 142
1) 7 2) 16 3) 56 4) 32

2) In the following number series a number is wrong. Select thate number from the following options:

3, 7, 16, 32, 56, 93, 142

1) 7 2) 16 3) 56 4) 32

3) Ajag‘yh ‘m{bHo$Vrb {dg§JV g‘yh AmoiIm.
XZB, DGJ, SWA, MRX, AGM

1) DGJ 2) SWA 3) AGM 4) MRX

3) Find the odd-man-out in the letter group series.

XZB, DGJ, SWA, MRX, AGM

1) DGJ 2) SWA 3) AGM 4) MRX

4) Imcrc g§»¶m§‘YyZ {dg§JV g§»¶m emoYm :
343, 324, 3375, 10648, 64
1) 64 2) 3375 3) 324 4) 10648

4) Find the odd man out from the following numbers :

343, 324, 3375, 10648, 64

1) 64 2) 3375 3) 324 4) 10648

5) {dg§JV KQ>H$ AmoiIm …
1) 24 - 21 2) 44 - 22 3) 62 - 23 4) 84 - 24

5) Identify odd element :

(1) 24 - 21 (2) 44 - 22 (3) 62 - 23 (4) 84 - 24

6) Ë`m JQ>mV Zgbobm H$moUVm?
Om§̂ im, Jwbm~r, amImS>r, {Zim
1) Om§̂ im 2) Jwbm~r 3) amImS>r 4) {Zim

6) Which is the one that does not belong to that group?

PURPLE, PINK, GREY, BLUE

1) Purple 2) Pink 3) Grey 4) Blue
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(5) J{UVr` / A§H$J{UVr` {H«$`m
1) ¶mo½¶ J{UVr¶ {MÝhm§Mm Cn¶moJ H$ê$Z Imbrb g‘rH$aU ~amo~a H$am …

42 �  6 �  51 = 201
1) + Am{U — 2) × Am{U — 3) — Am{U ÷ 4) ÷ Am{U ×

1) Use proper mathematical signs to make the equation correct :

42 �  6 �  51 = 201

1) + and — 2) × and — 3) — and ÷ 4) ÷ and ×

2) Oa > + +, + Xe©{dVmo +, < Xe©{dVmo -, - Xe©{dVmo =, = Xe©{dVmo <, × Xe©{dVmo >, Imbrbn¡H$s H$moUVo {dYmZ
~amo~a Amho Vo emoYm.
n`m©̀  CÎmao :
1) 3 + 2 > 4 = 9 + 3 < 2 2) 3 > 2 > 4 = 18 + 3 < 1

3) 3 > 2 < 4 × 8 + 4 < 2 4) 3 + 2 < 4 × 19 + 3 < 3

2) If > denotes +, + denotes +, < denotes -, - denotes =, = denotes <, × denotes >, find which of the

following is correct statement.

Options :

1) 3 + 2 > 4 = 9 + 3 < 2 2) 3 > 2 > 4 = 18 + 3 < 1

3) 3 > 2 < 4 × 8 + 4 < 2 4) 3 + 2 < 4 × 19 + 3 < 3

3) Oa ÷ åhUOo -, + åhUOo ÷, × åhUOo + Am{U - åhUOo × Va Imbrb g‘rH$aU gmoS>dm
37 × 72 - 7 ÷ 284 + 71 = ?
1) 217 2) 184 3) 117 4) 717

3) If ÷ stands for -, + stands for ÷, × stands for + and - stands for × then solve the following equation

37 × 72 - 7 ÷ 284 + 71 = ?

1) 217 2) 184 3) 117 4) 717

4) Oa 7 × 5 = 23, 6 × 8 = 34 Am{U 9 × 2 = 7 Va 6 × 7 = ?
1) 42 2) 29 3) 11 4) 24

4)  If 7 × 5 = 23, 6 × 8 = 34 and 9 × 2 = 7, then 6 × 7 = ?

1) 42 2) 29 3) 11 4) 24

5) Oa 8 × 2 = 4, 8 × 4 = 2, 16 × 8 = 2 Va 40 × 5 = ?
1) 2 2) 8 3) 20 4) 10

5) If 8 × 2 = 4, 8 × 4 = 2, 16 × 8 = 2 than 40 × 5 = ?

1) 2 2) 8 3) 20 4) 10
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(6) ^m¡{‘{VH$, doZ, àdmh Vº$m AmH¥$Ë`m§da àíZ
1) ^m¡{‘{VH$ AmH¥$Ë¶m
2) doZ AmH¥$Ë¶m
3) àdmh Vº$m

1) ^m¡{‘{VH$ AmH¥$Ë¶m
1) gmo~VÀ¶m AmH¥$Vr‘Yrb {ÌH$moUm§Mr g§»¶m gm§Jm.

1) 41 2) 42 3) 43 4) 33
1) Find out the number of triangles in the adjoining figure.

1) 41 2) 42  3) 43 4) 33

2) AmH¥$Vr‘Ü¶o {H$Vr {ÌH$moU AmhoV ?

1) 21 2) 35 3) 27 4) 25
2) How many triangles are there in the given figure ?

1) 21 2) 35 3) 27 4) 25
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3) n`m©̀ m§‘YyZ Mma VwH$S>çm§Mm JQ> {ZdS>m Oo EH$‘oH$m§‘Ü ò ~gdë`mda Y AmH¥$VrZo Xe©{dbobo AmH$ma V`ma H$aVmV.

 Y

n`m©̀  CÎmao :
1) a, b, d, e 2) a, b, c, d 3) b, d, c, e 3) a, b, c, e

3) Choose group of four pieces from alternatives that when fitted into each other form the shape

shown by figure Y.

Y

Answers Options :

1) a, b, d, e 2) a, b, c, d 3) b, d, c, e 3) a, b, c, e
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2) doZ AmH¥$Ë¶m
1) {Xcoë¶m eãXm§Mo g§M H$moUË¶m doZ-AmH¥$VrZo XmI{dVm ¶oVrc ?

{ejH$, coIH$, {ddm{hV ì¶º$s

 1) 2)  3) 4) 

1) By which Venn-diagram can the given sets of words be shown ?

Teachers, Writers, Married persons.

 1) 2)  3) 4) 

2) Imbr {Xboë¶m AmH¥$VrV Am¶V ‘{hbm Xe©{dVmo, {ÌH$moU {e{jV Xe©{dVmo, dV©wi J«m‘rU Xe©{dVmo Am{U Mm¡H$moZ
ñd¶§amoOJma Xe©{dVmo; Va Imbrbn¡H$s H$moU A{e{jV ñd¶§amoOJmarV J«m‘rU ‘{hbm Amho ?

1) 4 2) 18 3) 5 4) 3
2) In the following diagram, rectangle represents females, triangle represents educated, circle

represents rural and square represents self employed. Who among the following is uneducated

self employed rural female ?

1) 4 2) 18 3) 5 4) 3
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3) doZ AmH¥$VrÀ¶m Zm‘{ZX}{eV AmH$mamV Vmo {df¶ AmdS>Umè¶m {dÚmÏ¶mªMr g§»¶m XmIdbr Amho. 500 {dÚmÏ¶mªMr nmhUr
H$ê$Z hr AmH¥$Vr V¶ma Ho$br Amho. gd© VrZhr {df¶m§Mr AmdS> AgUmè¶m {dÚmÏ¶mªMo J{UV {df¶ d AmdS>Umè¶m
{dÚmÏ¶mªer Agbobo JwUmoÎma H$m¶ ?

1) 2/9 2) 6/3 3) 1/9 4) 4/27
3) The labelled shapes in the ven diagram shows number of students who like that subject. The diagram

is prepared on the basis of survey of 500 students. What is the ratio of the students who like all

the three subjects to those who do not like mathematics ?

1) 2/9 2) 6/3 3) 1/9 4) 4/27

4) gmo~VMr VobwJy, qhXr, ‘amR>r d JwOVamVr ¶m Mma ̂ mfm ~mobUmao {dÚmWu XmIdUmar doZ AmH¥$Vr Aä¶mgm. {Xboë¶m ̂ mfm
~mobUmè¶m§Mr g§»¶m AZwH«$‘o 61, 65, 73 d 69 Aer Amho. ’$º$ ‘amR>r ~mobUmè¶m {dÚmÏ¶mªMr g§»¶m {ZdS>m.

1) 19 2) 9
3) 8 4) CÎma {‘idÊ¶mgmR>r nwaoer gm‘J«r nwadbobr Zmhr
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4) Study the accompanying Venn diagram that shows the number of students who speak four languages

namely; Telugu, Hindi, Marathi and Gujarati. The number of students who speak the given languages

is 61, 65, 73 and 69 respectively. Select the number of students who speak Marathi only.

1) 19 2) 9

3) 8 4) Enough data is not provided for getting the answer

3) àdmh Vº$m
1) àdmhVº$m Aä¶mgyZ Amkm§Mo AW© aMm d Ë¶m§Mm dmna H$ê$Z {Xbobr g‘ñ¶m gmoS>dm.

n¶m©¶r CÎmao …
1) BLH 2) BBLH 3) BLHH 4) LBH
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1) Study the flow chart and construct the meanings of all commnad and apply them to the goven

problem :

Answer Options:

1) BLH 2) BBLH 3) BLHH 4) LBH
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(7) H«$‘nyV©Vm, à{V‘m, KZ, KS>çm, AmH¥$Ë`m§da àíZ
1) H«$‘nyV©Vm
2) à{V‘odarb àíZ
3) KZmdarb àíZ
4) KS>çmdarb àíZ

1) H«$‘nyV©Vm
1) n`m©̀ r, nmaXe©H$ H$mJXmMr erQ> {ZdS>m Or {R>nHo$Xma aofm§gh Xw‘S>ë`mda (A) Ûmao Xe©{dboë`m à{V‘ogmaIr {Xgob.

1) 2) 3) 4) 

1) Choose the alternative, transparent paper sheet that would look like image shown by (a) when

folded along dotted lines.

1) 2) 3) 4) 

2) (a) Zo XmIdbobm Z‘wZm nyU© H$aÊ`mgmR>r à{V‘m {ZdS>m.

                  (a)

n`m©̀  CÎmao :

1) 2) 3) 4) 
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2) Choose the image for completing the pattern shown by (a).

                  (a)

Answers Options :

1) 2) 3) 4) 

3) Imbrb AmH¥$VrMo {ZarjU H$ê$Z àíZmW©H$ OmJodarb AmH¥$Vr {Xboë¶m n¶m©¶mVyZ {ZdS>m.

1) 2) 3) 4) 

3) Observe the figure below and select the figure in question from the given options.

1) 2) 3) 4) 
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4) Omir nyU© H$aÊ¶mgmR>r ¶mo½¶ n¶m©¶ {ZdS>m.

1) 2) 3) 4) 

4) Choose the correct option to complete the mesh.

1) 2) 3) 4) 

5) nwT>rb ‘m§S>UrVrb [aH$må¶m OmJogmR>r VH©$g§JV à{V‘mg§M {ZdS>m …

1) 2) 3) 4)
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5) Select the set of images for the empty places in the following arrangement :

1) 2) 3) 4)

6) gmo~VÀ¶m ’$aí¶m§darb {R>n³¶m§Mr aMZm emoYm Am{U Vr nyU© H$aÊ¶mgmR>r n¶m©¶m§VyZ C{MV ^mJ {ZdS>m.

n¶m©¶r CÎmao …

1) 2) 3) 4) 

6) Find the dot design of accompanying tiles and select the appropriate part of it from the given

options.

n¶m©¶r CÎmao …

1) 2) 3) 4) 
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7) àíZmEodOr R>odÊ¶mgmR>r Vm{H©$H$ÑîQ>çm C{MV n¶m©¶mMr {ZdS> H$am.

n¶m©¶r CÎmao …

1) 2) 3) 4) 

7) Select the logically appropriate option to replace the question mark.

Answer Options :

1) 2) 3) 4) 

8) AmoitVrb eodQ>À¶m Am{U ñV§̂ m§Vrb VimÀ¶m àË¶oH$ {Vgè¶m ’$aerMr Zjr n{hë¶m XmoZ ’$aem§darb, EH$‘oH$m§da ¶oUmao
g‘mZ KQ>H$ dJiVm Cabobo KQ>H$ EH$Ì H$ê$Z V¶ma Ho$br Amho. {Xboë¶m aMZog§X^m©V VH©${dg§JV ’$aerMo ñWmZ
Am{U {Xboë¶m n¶m©¶m§VyZ {VÀ¶mEodOr R>odÊ¶mgmR>r C{MV ’$aer {ZdS>m.

n¶m©¶r CÎmao …
1) B - 1; a 2) A - 2; c 3) A - 1; d 4) B - 2; b
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8) Every third tile is designed by combining elements of first two tiles across the rows and down the

columns with the exception that like elements getting superimposed are cancelled out. Select the

location of the illogical tile with respect to the pattern and choose the appropriate tile for replacing

it from the given options.

Answer Options:

1) B - 1; a 2) A - 2; c 3) A - 1; d 4) B - 2; b

9) JQ>mV Z ~gUmar AmH¥$Vr doJir H$am.

1) A 2) B 3) C 4) D
9) Isolate the figure that does not fit in the group.

1) A 2) B 3) C 4) D

10) {dg§JV KQ>H$ {ZdS>m.

1) 2) 3) 4) 
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10) Select the odd object.

1) 2) 3) 4) 

2) à{V‘odarb àíZ
1) {Xboë¶m AmH¥$Vrg‘moa Amagm Yabm Amho. Va Ë¶m AmH¥$VrMr AmaemV H$moUVr AmH¥$Vr C‘Q>ob ho {Xboë¶m n¶m©¶mVyZ

{ZdS>m.

1) 2) 3) 4) 

1) A mirror is held in front of the given figure. So choose from the given option which figure will

appear in the mirror of that figure.

1) 2) 3) 4) 
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3) KZmdarb àíZ
1) 2 À`m {déÕ Vm|S>mda H$moUVm A§H$ Ambm nm{hOo?

n`m©̀  CÎmao :
1) 1 2) 5 3) 4 4) 6

1) Which digit should occur on the opposite face of 2 ?

Answers Options :

1) 1 2) 5 3) 4 4) 6

2) gmo~VÀ¶m OmirMo {ZarjU H$am.

nwT>rbn¡H$s ¶m Omirbm KS>çm KmbyZ ~ZdVm Z ¶oUmam KZ {ZdS>m.

1) 2) 3) 4) 

2) Observe the accompanying mesh.

Choose the cube from the following that cannot be formed by clocking this lattice.

1) 2) 3) 4) 
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3) nmaXeu H$mJX Y À¶m KS>çm KmbyZ {‘idbobr KS>r {ZdS>m.

1) 2) 3) 4) 

3) Select the fold that is obtained by folding transparent sheet Y.

1) 2) 3) 4) 

4) KS>çmdarb àíZ
1) Imbrb AmH¥$VrV XmIdë¶mà‘mUo EH$m H$mJXmÀ¶m VwH$S>çmbm KS>çm nmS>ë¶mV Am{U AmH¥$VrV XmIdë¶mà‘mUo Ë¶mbm

H$mnbo Va Ë¶m H$mJXmÀ¶m VwH$S>çmbm CKS>ë¶mda Imbrb n¶m©¶m§V {Xë¶mn¡H$s H$moUVr AmH¥$Vr V¶ma hmoB©b ?

1) 2) 3) 4) 
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1) If a piece of paper is bent as shown in the figure below and cut as shown in the figure, which of the

following figures will be formed when the piece of paper is opened?

1) 2) 3) 4) 

2) A§{V‘ n`m©̀ r n§M Ho$bobo Mm¡H$moZr nona erQ> ’$moëS> {ZdS>m Oo Imbr {Xboë`m CbJS>boë`m ’$m°‘©er AJXr OdiyZ
gmå` Agob:

n`m©̀  CÎmao :

1) 2) 3) 4) 

2) Choose the final alternative punched square paper sheet fold that would most closely resemble

the unfolded form given below :

Answers Options :

1) 2) 3) 4) 
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3) X hr nmaXe©H$ H$mJXmda H$mT>bobr à{V‘m Amho Or AnmaXe©H$ a§JmV Amho. H$mJX {Xboë`m {XeoZo {R>nHo$Xma aofoZo
Xw‘S>bobm Agë`mg. `mn¡H$s H$moUVm n`m©̀  AmdS>ob?

n`m©̀  CÎmao :

1) 2) 3) 4) 

3) X is an image drawn on transparent paper which opaque colour. If the paper is folded along dotted

line in a given direction. Which of the option would be like it ?

Answers Options :

1) 2) 3) 4) 
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4) gmo~VMm nmaXe©H$ H$mJXmMm VwH$S>m Aä¶mgm. Ë¶mÀ¶m KS>çm KmbyZ {ÌH$moU {‘idë¶mg Ë¶mgmaIr {XgUmar KS>r-
à{V‘m {ZdS>m.

1) 2) 3) 4) 

4) Study the accompanying piece of transparent paper. Select the fold image if it is folded to get

triangle.

1) 2) 3) 4) 
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

gm‘mÝ` ‘mZ{gH$ j‘Vm

(1) g§»¶m, {MÝho H«$‘ Am{U ‘m{bH$m

1) g§»¶m‘m{bH$m
1-x

2-x

3-x

4-x

5-3
6-2
7-2
8-1
9-3
10-x

2) {MÝho H«$‘, A§H$‘m§S>Ur, dU©-A§H$ ‘m{bH$m

1-x

2-1

3-3
4-x

3) AmH¥$VrVrb g§»¶m‘m{bH$m

1-x

2-x

3-x

4-x

5-1
6-4
7-4
8-2

9-2
10-2
11-2
12-4
13-3
14-3
15-3

(2) dU©H«$‘ Am{U ‘m{bH$m

1) dU©H«$‘ d eãXaMZm
1-1
2-2
3-x

4-x

5-x

6-x

2) dU©‘m{bH$m
1-1
2-2
3-3
4-x

5-x

3) AmH¥$VrVrb dU©‘m{bH$m
1-x

2-3
3-3
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(3) gm§Ho${VH$ ̂ mfm/ H$moqS>J-{S>H$moqS>J

1) B§JOr Ajao-eãXm§Mr gm§Ho${VH$ ^mfm
1-2
2-x

3-4

4-2
5-2

2) B§J«Or dm³¶m§Mr gm§Ho${VH$ ^mfm
1-4
2-1
3-4
4-2
5-x

3) g§»¶m - g§Ho$V/B§J«Or Ajao/eãXm§Mr
gm§Ho${VH$ ^mfm

1-4
2-1
3-1
4-3
5-2
6-x

7-2

(4) gmå¶/VwbZm, dJuH$aU/ {dg§JVr

1) gmå¶/VwbZm
1-3
2-x

3-x

4-x

5-x

2) dJuH$aU/ {dg§JVr
1-4
2-3
3-4
4-3
5-3
6-x

(5) J{UVr` / A§H$J{UVr` {H«$`m
1-2
2-x

3-x

4-2
5-2

(6) ̂ m¡{‘{VH$, doZ, àdmh Vº$m
AmH¥$Ë`m§da àíZ

1) ^m¡{‘{VH$ AmH¥$Ë¶m
1-1

2-3
3-x

2) doZ AmH¥$Ë¶m
1-1
2-4
3-1
4-3

3) àdmh Vº$m
1-2
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(7) H«$‘nyV©Vm, à{V‘m, KZ, KS>çm,
AmH¥$Ë`m§da àíZ

1) H«$‘nyV©Vm
1-x

2-x

3-x

4-x

5-3
6-1
7-4
8-2
9-x

10-2

2) à{V‘odarb àíZ
1-x

3) KZmdarb àíZ
1-x

2-3
3-1

4) KS>çmdarb àíZ
1-x

2-x

3-x

4-1


